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PART 1 (35 points)
Answer the questions for (A) The Split Cherry Tree.

A. THE SPLIT CHERRY TREE / Jesse Stuart
Answer questions 1-4.

1. Professor Herbert punishes Dave because ().
(i)  he forgot his homework
(i1))  he was late to class
(iii))  he broke a tree
(iv)  he killed the snake

(5 points)
2. Paaccepts Professor Herbert’s invitation to stay in school so he can (-).
(i)  goon a field trip
(i)  see what germs look like
(iii) keep an eye on Dave
(iv) meet other teachers
(5 points)

3.  Why does Pa say that Professor Herbert is "a good man" at the end of the story? Give information
from the story to support your answer.

ANSWER: .o e e e e e e e e e
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4. For this question, choose ONE of the thinking skills from the Appendix (navy) on page 15
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OR any thinking skill studied in class. Use this thinking skill when answering the question.
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(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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Professor Herbert and Pa represent two different approaches to educating children. Explain. Give
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information from the story to support your answer.
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PART 1II (45 points)
Answer the questions for either (B) All My Sons OR (C) The Wave.

B. ALL MY SONS / Arthur Miller

Answer questions 5-9.

5. "I packed your bag, darling." Kate says this to Ann because she (—).
(i)  doesn't want Ann to marry Chris
(ii)) doesn't want Ann to sleep in Larry's room
(iii) wants Ann to go visit her father in jail

(iv) knows that Ann wants to leave with George

(5 points)
6. Sue,Jim's wife, asks Ann to go away with Chris after their marriage because (-).
(i)  Chris makes more money than Jim
(i1))  Chris might influence Jim to do research
(iii) Kate likes Ann more than she likes Sue
(iv) Ann's father, Steve, is a criminal
(5 points)

7. What is Ann's role in the play? Give information from the play to support your answer.

ANSWER: L.ttt ettt et ettt a s e e aa e aees

(10 points)
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8. In Act II, Mother tells George that Joe "hasn't been laid up in fifteen years." This is a turning
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point in the play. Explain why. Give information from the play to support your answer.
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9. For this question, choose ONE of the thinking skills from the Appendix (nov3) on page 15
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OR:

C. THE WAVE / Morton Rhue

Answer questions 10-14.

10. When does Ben decide to start The Wave? When he (-).
(i)  realizes the students weren't paying attention in class
(ii))  learns that the football team is losing its games
(iii) can't answer the students' questions about Nazi Germany

(iv) sees that Robert is being bullied

(5 points)
11. What changes in the history lessons after The Wave starts?
@) Ben begins to give more homework.
(ii)  The students are better prepared.
(iii) Fewer students come to his class.
(iv) Ben shows films all the time.
(5 points)

12. Ben's wife, Christy, tells Ben, "I think you've created a monster." How is this shown in the novel?

Give information from the novel to support your answer.

ANSWER: Lo e e e e

(10 points)
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14. For this question, choose ONE of the thinking skills from the Appendix (nsvy) on page 15
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

"Poor Robert, Ben thought. The only one who really stood to lose in this whole thing." Why
is Robert the only one who really stood to lose something? Explain. Give information from the

novel to support your answer.

Thinking SKill T ChOSE: ...c..eiiiiiiiiiiieieee ettt

ANSWER: Lo e st ara e
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